3 I 6 S 4 3 fa 1

THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION 20 Loc DIST REVISIONS

B ALL RIGHTS RESERVED.
© COPYRIGHT 20 BY FT O P LTR DESCRIPTION DATE DWN APVD

D5 EDITED NOTES PER ECO-11-013836 1sJuL2olt | DW | JE

10-12AWG

$#3-32 PAN HEAD \ SCALE 2] SCALE 2:|
SCREW 1954381-5 ONLY

1954381 -2 & -3

32.9
20 REF

| /) /)
|| || L1 [ []] 0T ] [ ]
6.0
olw o'
N L/ | J
#10-372 THREAD
CUTTING SCREW CLOSED POSITION
——— 0.0 372.9
/N MATERIALS AND FINISH. NONE NONE 6mm2 AND 4mm?2 1954381 -6
SLIDER: PBT, UV FI RATING, BLACK, 94V5 5 5
MOUNT ING HARDWARE: STAINLESS STEEL EXCEPT #8-372 HEX NUT WHICH IS CARBON STEEL [ﬁl NUT WITH LOCKWASHER #10-32 PAN HEAD . 6725LG 10-12 AWG, 4mm? 1954381 -4
> COMPLIES WITH DIRECTIVE 2002/95/EC (ROHS) 1ﬁx NUT WITH LOCKWASHER #8 PAN HEAD .500LG 10-12 AWG, 4mm? 1954381 -3
" ZL HEX NUT #8-372 PAN HEAD .500LG 10-12 AWG, 4mm? 1 954381 -7
3. PATENTED. NONE #10-32 THREAD CUTTING .375LG 10-12 AWG, 4mm? 1954381 - |
NUT SCREW WIRE S17E Tt
ZL NUTS ARE PACKAGED SEPERATELY IN A BAG. — R
THIS DRAWING IS A CONTROLLED DOCUMENT. MOHAN pra— o
DIMENSIONS: TOLERANCES UNLESS CHSKDUESTERHOOE‘FN—PVZOOE; —— TE TE Connec*‘v‘*y
' OTHERWISE SPECIFIED: APVD Ol JUN20OT [namE
mm M_STRECKEWALD GROUNDING CLIP ASSEMBLY
? Etg i‘fo PRODUCT SPEC SOL ‘ D W‘ RE
@E § ﬁtg io 0 APPL}CATION SPEC )
MATER 1AL A GBI ] = VETeRT . A W 00779 @:. 195438 |
7 CUSTOMER DRAWING S e "D 5

4805 (3/11)

Downloaded From | Oneyac.com
Pro/ENGINEER DRAWING


https://www.oneyac.com

B NE AR EN, AT, SRR A ISR E B

Downloaded From | Oneyac.com


https://www.oneyac.com/brand/1062.html
https://www.oneyac.com

	>>TE Connectivity(泰科)

